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The price of a mobile is Rs 30000. The
value of the mobile depreciates by
12% at the end of the first year, it
depreciates by 15%. What will be the
value of the mobile after 2 years?
T HIATSA hi hidd 30000 TG g1 T8t
Y & AT | AETSA FT T 12% FH T
ST 8, T8 15% FH I STdT gl 2 9T 91
HISTS i a7 gIRIT?

(SSC M'[S

2022)
A) Rs 25255 B) Rs 22440 C) Rs 20000
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The salaries of X, Y and Z are in the ratio
8:5:12. If their salaries are increased by
10%, 20% and 30% respectively, then what
will be the ratio of their increased salaries?

X, Y T Z &7 3a 8:5:12 & quTa ¥ gl A(<
S T § HAT: 10%, 20% 30T 30% Ft Iie
sl STt g, AT S 9 U 9 T U FAT

gr?

2022) ‘
A)22:15:39 [ 20
B) 25:48:59 ‘
C) 24:47:58

(SSC MTS
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The current population of the town is
68000. The population increases by
10% is the first year and decreases by
5% in the second year. Find the
population after 2 years?

¥l TAHTH STHEIT 68000 gl T8 a4
STAEEAT H 10% Ht g FIAT & M TEX
99 H 5% Ht FHI It gl 2 99 q1S
STAEEAT AT HHorA?

2022)
A) 71060 B) 68500 C) 69000 D)

(SSC MTS -
':'-y’g
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The price of a commodity is decreased 0}
25 percent and therefore a household
increased the consumption of that
commodity by 20 kg to keep the
expenditure same. What was the earlier
consumption?

et a=q T FHHa 25 TiAea F9 31 ATt g

WW@W#W&%WT@%%

forT S& a&g i @ 20 fHuTH &7 <11 I8

guq fohadt of?

(A) 60 kg (B) 55 kg (C) 75 kg (D) 45 kg
(SSC CHSL PRE
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The population of a town is 8000. It increases by
10% during first year and by 20% during second
year. The population after 2 years will be

Teh el st STEeaT 8000 Bl I8 T8 a9
2 10% 3T L AW & a1 20% € STl
gl 2 9 9TE TTAEEAT gl

(A) 10560 (B)12350

(C)10400  (D)NOT
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A man spends 28% of his salary on food.
From the remaining he spent 1/6% on rent and
sends 3/8th to his mother. If he left with Rs.
5280, what amount he sends to his mother.
T SMEHT (I A FT 28% HISH 9L G HdT
gl AT H § I 1/6 9T fFF I @ FXam g 3}
3/8 wman?ﬁma?rﬁwél gfe ag T 5280
SETSC L Wﬁﬁ%ﬂ'ﬁ‘rﬁmﬁﬁﬁﬁl‘rﬁﬂﬁ
HOITT?
(A) Rs. 8230 (B)Rs. 8640 (C)Rs. 9580
(D) Rs. 4320
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If 80% of x = 50% of y, then x is what percent

of y?

T X T 80% =y
Traerd 2 ?

50%, 1

X, Y

lendl el

A)62.5%

B)75%
C)125%
D)160%
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If 60% of (x-y) =45% of (x +y) theny is
what % of x.
i< 60% of (x- y) = 45% of(x + y) g Ay, X
F7 fFaT% 2
(A) 21 (B) 6 (C) 14(2/7)
K
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Tta Tl T=AT T 25%, 36 2 a7 IH H&AT &1
125% BT

If 25% of a number is 36, then 125% of
that number is:

(A)180
(B)170
(C)160
(D)150
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In an examination, 87.5% of the students
passed and 48 students failed. If so, how
many students appeared in the
examination?

T 9T § ,87.5% =1 919 g AT 48
S 6 g S I F o Sy et
gCY?

(A)500 (B)384 (C) 568 )
580
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Two numbers are 50% and 75% lesser than a
third number. By how much percent is the
second number to be enhanced to make it
equal to the first number?

T &A1 6T AT /< G&AqT 50% 3R 75%
FH gl TSAT GCAT o TUAL HLA o (1T FEL
TEAT Fl fohaw Ifqera T S@rET ST 872

(A) 50 (B) 25 (C) 75 (D)
100
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There were two candidates in an election.
One got 41% of total votes and lost by 5580
votes. Find the total votes.

T AT | aT SFHIGATL I A aTol I QAT A
41% < I8 7 T ar 5580 det q X 4T
o AT ol G&AT fhaet Hi?

A)31000 B)25000 C)36000
D)56000
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If the numerator of a fraction be increased by
10% and its denominator be diminished by
20%, the value of the fraction becomes
11/16. Find the original fraction.

i< T I % AT 7 10% i1 g M L H 20%
I FHL T ST, qAT STHT /T 11/16 T STAT B
g e /=T 87

A) 1/2 B)2/3 C)3/4 D)4/5
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A person who spends 200/3% of is
income is able to save Rs 1200 per

month. His monthly expenses ( in Rs) is
T STk ST AT 3T FT 200/3% @ FLAT g,
98 Tia /18 1200 TIF F=T GhaT gl SHHT AT
Tq (TIT |) 872

A)3400 B)2400 C)5000
D)3700
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The total number of boys in a school is

15% more than the total number of girls

in the school. If the number of girls is

400 then how many boys more than

girls in the school?

U Thel § S ATshdl 9 15% A&+ g

qIT TfQ ASTHAT 6T G&4T 400 g T Foha

A ATSHAL A SATT § 7

(A) 46 (B) 60 (C) 25
(D) 24







